- —BBFFTILAFTASUXV Y (8A26BBH) thik

| - ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.14G5 |429G3 [57G8  [7.3 G8 [8.20G5 |9.18 G3 Ak
1|78 5A8GELUTC) 12 63 41 48 164
2B HI(F—LaLT) 90 23 34 147
2%BE )l EBHEEREKXZE) 90 23 34 147
4 i (HARTH) 63 23 48 134
5| % BXRGEBXRD) 41 90 131
6| 8% Hsh (HARTH) 19 23 63 22 127
771l HER(GASCTT) 23 90 113
8|HE E(BAIH 23 63 22 108
= BMAEBHNERAE) 14 41 55
9|58 WMELF—T=XFH) 14 41 55
LGRS ) 14 41 55
123 E2(Qoo) 27 23 50
13| KifE 1 Z(NEST) 23 22 45
13|;5% &EE(NOBU) 23 22 45
15[ L# Z&5h(Qoo) 27 14 41
15|55 RtCEFMEEITTC) 41 41
15(F018 #A(NEST) 41 41
19| X% EEGFLO—2) 14 23 37
20|8k A F(HYORO—K) 14 12 26
21|50 ENErEHER) 23 23
21|##10 #EXRACET=_RAFHTI—) 23 23
21kl BXR(EXREKXE) 23 23
21/ME mEWLVHENTC) 23 23
25|15 R HBELTC) 19 19
26| KJIE BEEF—LILT) 14 14
26| FH E REFEEITALA) 14 14
26|k F(FWLTC) 14 14
26| XM % (Qoo) 14 14
26| H HE(Qoo) 14 14
26|E5)1l FHH(BAKE) 14 14
26|H{f HEA@ZORO—F) 14 14
26|/MVE FRCEERIIIER) 14 14
26|78 FHEAXRIH 14 14
26)ithH RIFESEIESK) 14 14
36|FEF FEIULREER) 12 12
36| KiF B DORO—F) 12 12
36[ME FORE(NEST) 12 12
36|#3E E(NOBU) 12 12
36|dE SEZEXEILSK) 12 12
36|18 BEABI(HXEI;SK) 12 12
36|/hith ZEE(HORO—F) 12 12
36|HFE —#»ORO—F) 12 12
36|18 FRB(NOBU) 12 12
36|=# BUEGBH=HTITFI—IL) 12 12
46 EQATDIE 0




35BLUEBFATILRFTASY XY (8B26 HBTE) thik

B = ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.15G5 |429G3 [57G8 [73G8  [8.20G5 |9.18 G3 Ak
1[{£E% HE#H(NOBU) 34 90 124
1|#%H FHUL/N—LTC) 34 90 124
3|HER #2Z(Qoo) 48 63 111
4|H1F £E(Qoo) 90 90
428k #15h(Qoo) 90 90
6|#5 K BAKUL/N—LTO) 63 63
6| AR RA(EERB) 63 63
6|5 EA(Qoo) 63 63
9| K Fk—(Qoo) 48 483
105 F FRRULKEESR) 41 41
10[##87 EH(GASCTT) 41 41
10|EH BEOLNTRER 41 4
10[ FIWHA ROLANT=XE) 41 41
14| A4 K#a(Qoo) 22 22
14|FE FEEF—LOLT) 22 29
16 0




40U EBF AT ILRFTASVX VY (8 A26 HETE)
ZuELL



- A5 LI EBFATILRFTASV XY (826 HBTE) thik

| - ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.15G5 |429G3 [57G8 [73G8  [8.20G5 |9.18 G3 Ak
1[KE % (SOTO) 48 90 34 172
2|3k #5(SOTC) 48 90 138
3 MME AMRhERE) 90 90
3|KH EX(Qoo) 90 90
5|FHIII BE—(TIZTTRDE) 63 63
5|5 BES(E1&TC) 63 63
5|0F EEBI(LVHENTC) 63 63
5| Kt EB(LVHENTC) 63 63
9|KH NE(ELMHETOC) 48 483
9|H# HEX(SOTC) 48 483
11X F17(Qoo) 41 41
11/MEF E—(Qoo) 41 41
13|BF AZRGEETEA) 34 34
13X E(HIHIT7I—I) 34 34
13;8i0 BRGBIMNIT7FI—IL) 34 34
16 0




508 BFHIILRFTASY XY (8A26 HIRTE) thik

B = ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.15G5 |429G3 |57G8 |73G8  |820G5 [9.18 G3 Ak
185K B E(Qoo) 48 63 111
2|AF EX(SOTC) 90 90
2|KH XE(ELETC) 90 90
4|8R3F #—(Qoo) 63 63
5B SH(EHETC) 12 41 53
5|71l GE(EHTC) 12 41 53
71/MEF E—(Qoo) 48 48
8| BE AFGEETM&R) 27 27
8|EH ZR{S(NOBU) 27 27
10|% % F(EHTC) 19 19
10[/hML FE(EHETC) 19 19
12| BRE(EHETC) 12 12
12|;kF FX(EH)TC 12 12
14 0




- 558 BFHIILRFTASY XY (8A 26 HIRTE) thik

| - ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.15G5 |429G3 [57G8 [73G8  [8.20G5 |9.18 G3 Ak
1|#®E EEWLVHENTC) 27 63 34 124
1[IEFEXR FE LVHENTC) 27 63 34 124
3B BRGBIMNIT7FI—IL) 19 90 109
4R BHIHIT7I—I) 90 90
4Rl BEX(Qoo) 90 90
4% 0 RE(LVHENTC) 90 90
TEAR FEEBETC) 63 63
1| &ZE%E FEAURIETC) 63 63
9|F E BEZ(EHTC) 48 48
9|l HAIGBIMAITZE—IL) 48 48
MFERE EEAVTC) 41 41
15X MEWLHhEFRTC) 41 41
11288 FEBTENUR) 41 41
11K EETERNUR) 41 41
15717 [EGERLO—) 22 22
15| =R H=(FFa3)L) 22 22
17[838 EFEMy Way TC) 19 19
18|18i#h EF(RIETC) 12 12
18[H1L HEBURETC) 12 12
18[FHH ZFI(RFFTC) 12 12
18|78H £=(R[TTC) 12 12
22 0




60B L EBFATILRFTASY XY (8B26 HEBTE) bk

B = ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.15G5 |429G3 [57G8 [73G8  [8.20G5 |9.18 G3 Ak
1| X8 =HXAVTC) 90 90
1ES [BEavTC) 90 90
3lHIL HRBURETC) 63 63
3K HEURIETC) 63 63
S5|EAR (BRI S5D) 48 48
S5|EAR N(EEHYSD) 48 48
7 0




65 LU EBFATILRFTASY XY (8A26 HEBT)

it

B = ED HZED |EEFE|ERK  |RES |[MED e o\

iz E & (B B 115G5 |429G3 |57G8 |73G8  |820G5 |9.18 G3 Ak
1{EAR FhRETHST) 90 90
1[{£8 #BH(GASCTT) 90 90
3|tk EFAVIC) 63 63
3[R EAVTC) 63 63
5|4 EHRAVTC) 41 41
5|%30 FABRIVTC) 41 41
7 0




70U EBFSTILAFTASUF VY (8A26 HBRE)
BuETL



- — WX FSFITIAFTASV XV (8 A26 HB ) fuk

| - ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 114G5 |429G3 |57G8 |73G8  |820G5 |9.18 G3 Ak
1|5RF #3% (GASCTT) 63 63 48 174
2|k REEZEEXE) 63 63 126
3R BF(BHhIT7zI—IL) 27 41 34 102
4l ETHHEAKXE) 90 90
4% BF(EHAKXE) 90 90
4;EE FEBAERKXE) 90 90
4|BE EEEAXKRD) 90 90
8B EREGFHIET 27 41 68
9|#EA 1K(GASCTT) 12 41 53
10[/\B BV A(F-tennis) 48 48
11|K8 BREXFILSHK) 23 22 45
12|18 %#3X(ROSSO) 4 IR
12 EHBEXFELSR) 41 41
1215 134 EESZIR) 41 41
15| KM BmF@HIMITFI—IL) 34 34
16/ BR(BXREILSH) 23 23
17|18 E B XEILSHE) 22 22
17|REF PEFEHXFELEK) 22 22
17| BEFBXFELSK) 22 22
208K FELHENTC) 19 19
20K HLEHALVHhEO—Y) 19 19
22|45#h FIFE(GASCTT) 12 12
22|BE[H 1R F(GASCTT) 12 12
22| KiF R F (B T7I—IL) 12 12
25 EQATI 0




- A0 L E X FATILRFTASVU XY (8 B26 HBTE) thik

| - ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.15G5 |429G3 [57G8 [73G8  [8.20G5 |9.18 G3 Ak
1[1£% BEFLDHENTC) 27 90 48 165
214l EEG@ERLTC) 48 19 63 34 164
2|/ Mz EZF(ROSSO) 48 19 63 34 164
4|BE[R " F(GASCTT) 90 90
5| BN AFEFEILTC) 27 48 75
6IREK EHEFLVHENTC) 22 41 63
7|AH {Z%(Qoo) 41 12 53
8|EtE [E(enjoy) 34 12 46
9I=EA Ex(Qoo) 22 22 44
105k BEHYE) 22 12 34
10| E:=8F F1E(enjoy) 34 34
12(fe A FIEFKELFE) 12 12 24
13[F E &HPE(enjoy) 22 22
133k F EFHHK(ROSSO) 22 22
13|;5% #3%(Qoo) 22 22
13|F4 FAF—LILT) 22 22
17|88 BxWU—X) 12 12
17|k FFGHBIHIT7ZE—IL) 12 12
17| B & IFEFEFLUTC) 12 12
17| 2% EX@EUTC) 12 12
172+ EREHTC) 12 12
22 0




A5 L E X FATILAFTASVU XY (8 B26 HBTE) thik

B = ED E=D |(EREFHE(RLNE  (FEHF [BED e o\

iz E & (B B 115G5 |429G3 |57G8 |73G8  |820G5 |9.18 G3 Ak
1| L=EF F1E(enjoy) 90 90
1IEAR AZFELTC) 90 90
1| XE HEF@GHENTFI—IL) 90 90
1[1£% BHEFWLVDENTC) 90 90
5|8 (LFHEEE) 12 63 75
5IRA EFEFLVHENTC) 12 63 75
£ HF(ROSSO) 27 27
1k# EEHKROSSO) 27 27
9| KE HXFURIETOC) 19 19
9|40 FHEURIETC) 19 19
11|58 =FGEUTC) 12 12
11EE #F&hoh) 12 12
13 0




508 LU ELXFHATILRFTASY XY (8 B26 HEBTE) thik

B = ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.15G5 |429G3 [57G8 [73G8  [8.20G5 |9.18 G3 Ak
1Bl EFEDE) 90 90
1EN FPHAF—LALT) 90 90
3| &KE EF(LVHENTC) 48 48
3/ FHF(LVHENTC) 48 48
5/ fBF(LvbhEO—Y) 34 34
5|ILEF EFIVTIC) 34 34
7 0




558 L ELXFATILRFTASY XY (826 HEBTE) thik

B = ED HZED |EEFE|ERK  |RES |[MED N

iz E & (B B 1.15G5 |429G3 [57G8 [73G8  [8.20G5 |9.18 G3 Ak
128 EX@ERLUTC) 19 90 90 199
1|EB#E HIFZFELTC) 19 90 90 199
3|5 AEF(GASCTT) 63 41 104
4| K8 EF(LVHENTC) 12 63 75
4/ FHF(LVHENTC) 12 63 75
6BH ITVA(GASCTT) 27 41 68
1/MFEH HOIES) 63 63
8|ER FE(enjoy) 41 41
8|8RIFE FHF(enjoy) 41 41
10|EXR AF(HLYY) 27 27
11E#% nFWU—X) 12 12
11|FH BiEEF)Y—X) 12 12
13 0
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